
Cl
as

s 
-8

Worksheet
Name: .............................................................................................................................................

Roll No: ...................................................................... Class: ......................... Section: .............

Date: ..........................................................................

Grade: 
Teacher’s Signature: .............................

A.	 Tick ( ) the correct option.

1.	 Which of the following is not an advantage of AI?

(a)	Reduction of human error	 	 (b)	 Quick Action�

(c)	 Diligent				    	 (d)	 Unemployment�

2.	 Which of the following is the disadvantage of AI?

(a)	 Expensive				    	 (b)	 Black Box problem�

(c)	 Lack of emotions			   	 (d)	 All of these�

B.	 Consider the following statements:

Statement A: There is no health issue with AI.
Statement B: AI machines are good replacement of humans at high-risk places.
Choose the correct option from the following:

(a)	 Only Statement A is correct	 	 (b)	 Only Statement B is correct�

(c)	 Both statements are correct	 	 (d)	 None of the statement is correct�

C.	 Explain the following:

1.	 Is AI a Boon or a Bane?

	 ……….….……….….……….………….….……….…. ……….……….….……….….

	 ……….….……….….……….………….….……….…. ……….……….….……….….

2.	 AI Access

	 ……….….……….….……….………….….……….…. ……….……….….……….….

	 ……….….……….….……….………….….……….…. ……….……….….……….….
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